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/ The measure of an angle jg (5x — 3)°. Its vertical
angle has a measure of (2x + 12)°. Find the value of x.

Vertical angles are ¢ Q-;;%?‘%%%”iﬁ@ﬁ%xg
Subtract 2x from each w:,ééa ._
Combine like lerms. -
Add 3 to sach side.
Sirnpslify.

Divide sach side by 3.

Simiplify.

) You can buy a skateboard for $60 from a friend and
the safety equment for $1.50 per hour. Or you can
rent all items you need for $5.50 per hour. How many
hours must you use your skateboard to justify buying
your friend’s skateboard?

Relate:

Define: Let number of hours you must skateboard.

Write: 60 + 1.5/h] = 5.5[h]
60 + 1.5h = 5.5h

60 + hgh —"Ngh = 5.5h — 1.5n  Subtract 1.5h from each side.

60 = 4h Lombineg ke lerms,
60 _Q Divide each side by 4.
15 = Shmplify.

You must use your skateboard for more than 15 hours to
justify buying the skateboard.
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Solve each equation.

a. -6z + 8 = C 7
—6z+8=2+10 — 7

-6z + 8 = -6z + 10 Combine like lsrms.
5&;4— 8 +\= &+ 10 :;\6( Add 6z to each side,
8 =10 ot trug % Cany value of z!
This equation has no soluti
b. 4 -4y =
4 — 4y =
4W_ —W + 4 +S}\f%sf§<:% 4y 1o each side,
4 =4 Slwayvs trug!l
: Ly
: The equation is true for every value of y, so the
equation is an identi
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